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216 4 2 1 5 2 3 2 2 21 25% 4 1 1 62
217 4 2 1 61 2 3 2 3 2 2 257 4 1 1 66
218 4 2 1 59 2 3 2 3 2 2 258 4 1 1 51
219 4 2 2 61 2 11111 259 4 1 1 46
220 4 2 2 46 2 1 11 11 260 4 1 1 68
221 4 2 2 84 3 1 1111 261 4 1 1 69
222 4 2 2 42 1 112 21 262 4 1 1 36
223 4 2239111221 263 4 1 1 58
224 4 2 2 52 2 113 2 2 264 4 1 1 36
225 4 2 2 65 3 113 2 2 265 4 1 1 22
226 4 2 2 59 2 113 22 266 4 1 1 66
227 4 2 2 58 2 1 2 111 267 4 1 1 71
228 4 2 2 46 2 1 2 1 11 268 4 1 1 67
229 4 2 2 5% 212111 269 4 1 1 62
230 4 2 2 55 21 2 111 270 4 1 1 60
231 4 2 2 42 11 2 2 21 2711 4 1 1 57
232 4 2 257 212221 2712 4 1 2 47
233 4 2 2 63 21 2 2 21 273 4 1 2 39
234 4 2 2 60 2 1 2 3 2 2 274 4 1 2 42
235 4 2 2 53 2123 22 275 4 1 2 60
236 4 2 2 47 2 2 1 111 216 4 1 2 71
237 4 2 2 79 3 21221 277 4 1 2 31
238 4 2 2 77m 3 213 22 2718 4 1 2 42
239 4 2 2 58 2 2 2 111 2719 4 1 2 51
240 4 2 2 64 2 3 1 1 11 280 4 1 2 52
241 4 2 2 47 2 3 1 3 2 2 281 4 1 2 66
242 4 2 2 65 3 3 1 3 2 2 282 4 1 2 68
243 4 2 2 59 2 313 2 2 283 4 1 2 57
244 4 2 2 53 2 3 2111 284 4 1 2 69
245 4 2 2 55 2 32 2 21 285 4 1 2 80
246 4 2 2 73 3 3 2 3 2 2 286 4 1 2 64
247 4 2 2 4 1 3 2 3 2 2 287 4 1 2 65
248 4 1 1 3% 1 11111 288 4 1 2 9
249 4 1 1 54 2 113 2 2 289 4 1 2 73
250 4 1164 212111 290 4 1 2 65
251 4 11 36 112111 291 4 1 2 54
252 4 11 43112 2 21 292 4 1 2 51
253 4 1 1 54 212221 293 4 1 2 50
254 4 1 1 39 112 221 294 4 1 2 64
255 4 1 1 64 2 1 2 3 2 2 2905 4 1 2 73

Title 'clinical_305b.sas 2006-1-26 Y.Takahashi';
[*data clinical ;
input id hosp drug sex age age3 severity c_drug y123
y122 y112
if y122=1 then y122r = 'Placebo' ;
if y122=2 then y122r = 'Active ';
if y112=1 then y112r = 'Placebo’ ;
if y112=2 then y112r = 'Active ' ;

123 122 112
datalines ;
112163211111
2 12163 211322
312157212111
304 4 1 2 45 2 3 2 3 2 2
305 4 1 2 47 2 3 2 3 2 2%

broc print data=clinical ;
run;

title2 '<<< >>>'
proc tabulate data=clinical noseps format=10. ;
class drug hosp sex age3 severity ¢c_drug y123;
table all hosp sex age3 severity c_drug, y123
all /rts=15;

run;
title2 '<<< >>>':
proc logistic data=clinical ;
class age3 /param=reference ref=first;
model y123 = age3 severity / expb
tech=newton ;
run ;
title2 '<<< >>>'

WNMNDNNNWWWWNWWNWWNNEFRPRPWNREPRERNMNNNNMNOWWRRERPNRPRPOWONDNDORN

/ expb tech=newton ;
run;

title2 '<<< >>>'
proc logistic data=clinical
class drug | param=reference

ref=first ;
model
tech=newton ;
run;

y123 = drug / expb

12 32 2 296 4 1 2 37 1 2 2 3 2 2
21322 297 4 1 2 78 331111
21322 298 4 1 2 65 3 312 21
213 22 299 4 1 2 41 1 313 2 2
2 2322 300 4 1 2 63 231322
2 2322 301 4 1 2 32 131322
22322 302 4 1 25 2 31322
31221 33 41 2 40 132221
31322 34 4 1 2 45 2 3 2 3 2 2
31322 305 4 1 2 47 2 3 2 3 2 2
32111

32221 ;

3 23 22 proc print data=clinical ;

32322 run;

32322

3 2 3 2 2 title2 '<<< >>>':
11111 proc  tabulate  data=clinical noseps
113 2 2 format=10. ;

113 2 2 class drug hosp sex age3 severity
113 2 2 c_drug y123;

113 22 table all hosp sex age3
113 22 severity c_drug, y123 all /rts=15;
12111 run;

12111

12111 title2 '<<<

122 21 >>>';

122 21 proc logistic data=clinical ;

122 21 class age3 | param=reference
122 21 ref=first ;

1 23 2 2 model y123 = age3 severity
123 22

12322

12322

21111

21221

21322

22111

22111

22221

22221

proc logistic data=clinical ;
class drug /param=reference ref=first ;
model y123 =drug / expb tech=newton ;
run ;

title2 '<<<
>>>'

proc transpose data=clinical out=clinical_T ;

var hosp sex age3 severity ¢_drug ;
by id drugyl23y122ry112r;
run;
data clinical_T ;
set clinical_T ;
var_name = _NAME_;
value = COL1;
if var_name = 'hosp' then var_name =
"1:hosp '
if var_name = 'sex’' then var_name =
'2:seX "
if var_name = 'age3' then var_name =
'3:age3 "
if var_name = ‘severity’ then var_name =
‘4:severity' ;
if var_name = 'c_drug' then var_name =
'5:c_drug ';

drop _NAME_COL1;
run ;

proc sort data=clinical_T ;
by var_name id ;
run;

proc print data=clinical_T ;
run;

proc logistic data=clinical_T ;
class drug value / param=reference ref=first ;



model y123 = drug value drug*value/ expb
tech=newton ;

by var_name ;

run;

proc logistic data=clinical_T ;
class drug value / param=reference ref=first ;
model y123 = drug value / expb
tech=newton ;
by var_name;
run ;

title2 '<<< ++ >>>'
proc tabulate data=clinical noseps format=10. ;
class drug hosp sex age3 severity c_drug y123 y122
y112;
table all hosp sex age3 severity c_drug,
drug*(y122 all) /rts=15;
run ;

proc freq data=clinical_T ;
table var_name*value*drug*y122r / nopercent nocol
norow relrisk ;
run;

title2 '<<< + >>>'
proc tabulate data=clinical noseps format=10. ;
class drug hosp sex age3 severity c_drug y123 y122

y112;
table all hosp sex age3 severity c_drug,
drug*(y112 all) /rts=15;

run ;
proc freq data=clinical_T ;
table var_name*value*drug*y112r / nopercent nocol
norow relrisk ;
run;

title2 '<<<
>>>'
proc logistic data=clinical ;
class drug hosp / param=reference ref=first ;
model y123 = drug hosp [/ expb
tech=newton ;
run;

title2 '<<< >>>'
proc logistic data=clinical ;
class drug hosp / param=reference ref=first ;
model y122 = drug hosp drug*hosp/ expb
tech=newton ;
run;

proc logistic data=clinical ;
class drug hosp / param=reference ref=first ;
model y112 = drug hosp drug*hosp/ expb
tech=newton ;
run;

proc logistic data=clinical ;
class drug hosp / param=reference ref=first ;
model y123 = drug hosp drug*hosp/ expb
tech=newton ;
run;

title2 '<<< >>>';
proc tabulate data=clinical noseps format=10. ;

class drug hosp sex age3 severity c_drug y123 y122

y112;

table all hosp sex age3 severity c_drug, drug
all / rts=15;

run ;

proc freq data=clinical ;
table hosp*drug / nopercent nocol norow chisq ;
table sex *drug / nopercent nocol norow chisq ;
table age3*drug / nopercent nocol norow chisq ;
table severity*drug / nopercent nocol norow chisq ;
table c_drug *drug / nopercent nocol norow chisq ;
run;

title2 '<<< >>>'
proc tabulate data=clinical noseps format=6. ;
class drug hosp sex age3 severity c_drug y123 y122
y112;
table severity, drug*(y123 all) / rts=15 ;
run;

proc freq data=clinical ;

table severity*drug*y123 / nopercent nocol norow cmh
score=table ;

table severity*drug*y122 / nopercent nocol norow cmh
score=table ;

table severity*drug*y112 / nopercent nocol norow cmh
score=table ;

run;

title2 '<<<
>>>'
proc logistic data=clinical ;
class drug hosp sex age3 severity c_drug /

param=reference ref=first ;

model y123 = drug | hosp | age3 | sex | severity
|c_drug @2

/ expb tech=newton ;
run ;

proc logistic data=clinical ;
class drug hosp sex age3 severity c_drug /
param=reference ref=first ;
model y123 = drug | hosp | age3 | sex | severity
|c_drug @2
| expb tech=newton selection=backward
slstay=0.20 ;
run ;

proc logistic data=clinical ;
class drug hosp sex age3 severity c_drug /
param=reference ref=first ;
model y123 = drug | hosp | age3 | sex | severity
|c_drug @2
| expb tech=newton selection=backward
slstay=0.15 ;
run ;

proc logistic data=clinical ;
class drug hosp sex age3 severity c_drug /
param=reference ref=first ;
model y123 = drug | hosp | age3 | sex | severity
|c_drug @2
| expb tech=newton selection=backward
slstay=0.05 ;
run ;



